
 

Probability scale

unlikely likely1 I 1
O E I

5050 certainimpossible
equally

likely
unlikely

Roll a Die Outcome 1 2 3 4 56
Probability I E I E I E

These 6 outcomes are mutually exclusive events

consider Prob 2 or 3 Z f tf
OR Rule for mutually exclusive events

Prob even number f tf tf L2 4,6

We cannot add together the probabilities
of events which are not mutually exclusive

Let A b event even number 2 a 6

B be event number 3 4,56

Prob A or B PCA PCB

Probability



tf
In fact PCAorB written AUB

The reason this does not work is that

A and B are not waterally exclusive they
overlap P An B Z as they have 4,6

in con on

Venn E p B
Diagne

z 46 5

I 3

Monopoly Dice
Roll a sloe die and a red die and

add their scores to find a total
Blue

I 2 3 4 56
I 2 3 4 56 7

2 34 5 6 78
Red 3 4 56 7 8 9

4 56 7 8 9 10
5 67 8 9 10 11

6 7 8 9 10 11 12



P z 316 PCs

p 3
Z

P 9 I36 36
P If P lo 33 36
PCs 4

Pcn I36 36
P G Eg P iz 36
PG 6

36

Fine P Prime total JE

P 7 656 or I

Draw a sample space diagram for when

two dice are rolled and the numbers are

multiplied together
Blue

X l 2 3 45 6
I I 2 3 4 56
Z Z Q 6 8 10 12

Red 3 3 6 9 12 1518
4 4 8 12 16 2024
5 5 10 15 20 2530
6 6 12 18 24 3036



Find P Even 3 I
P Divisible by 6 j I

12

Draw a sample space to show rolling
two dice and taking the lower score from
the higher score Score 0 if both the same

I 2 3 45 6

I O l 2 3 4

52I O l 2 3

432 I O l 2 3

3 2 I 0 I 2
5 of 3 2 I O l
6 5 Q T 2 I 0

18
Find P Even 36

f Prime 16
36


